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PARTA—(10x1=10 marks)
Answer ALL questions.
Choose the correct answer :
Which is a reducing sugar?

(a) Glucose (b) Starch
(c) Sucrose (d) None of these

Starch is a homopolymer of ‘

(a) _a -D-Glucose (b)y S -D-Glucose

(¢) a-D-Fructose (d) p-D-Fructose

Methods used to find the nature of ring in
alkaloids

(a) Hydrolysis
(b) Gxidation
(¢) Hofmann's exhaustive methylation

(d) All these

Terpenes are made up of
(a) Chloroprene (b) Neoprene

(c) Isoprene (d) None of these

The & value of TMS is

(@) 10

(b) 5

(c) O

(8) None of these

Which electronic excitation requires less energy?
(M) n-o*

(d n-n*

(a) o-o*

) m-x*
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6.

11.

13.

14.

Which is the strongest acid?
(n) m-hydroxy benzoic acid
(b) p- hydroxy benzoic acid
(¢) o- hydroxy benzoic acid

(d) None of these

O-amino benezoic acid i8
(a) Anthramilic acid
(b) Mandelic acid

(c) Cinnamic acid

(d) None of these

The chemical used to carryout fries rearrangement

is
(a) BCls (b) NHs
(¢) Anhyd. AlCls (d) BFs

1, 2— diols of higher order are called
(a) Pinacols (b) Pyrogallols

(¢) Thiols (d) None of these
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PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b):
Each answer should not exceed 250 words.

(a) Write notes on the classification of

carbohydrates.
) Or

(b) What is muta rotation? Explain with example.

(a) Explain Kolb’s reaction with example.
Or

(b) Write notes on benzoin condensation.

(a) Explain benzidine rearrangement.
Or

(b) Explain Baryer-Villiger oxidation.

(a) Elucidate the structure of coniine.
Or

(b) Elucidate the structure of menthol.

(a) Explain Woodward-Fieser rule for calculating
A max for dienes.

Or
(b) What is chemical shift? Explain.
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PART C — (b x 8 = 40 marks)

Answer ALL questions, choosing cither (a) or (b)
Each answer should not exceed 60O wards,
16. (a) (i) Convert fructose into glucose.

(i) Explain the structure of atarch.

Or

(b) (i) Give any four chemieal reactions - of
fructose. :

(i) Give the Haworth structure of collulose
and two uses,

17. (a) (i) Explain Reimer-Tiemann reaction.
(i) Explain Perhin's reaction.
Or
(b) Explziin the following :
(1) Quinone oxime tautomerism
(1)  Ortho effect.

18. (a) Lxplain the following rearrangement with
example (i) Bechmann (ii) Claisen.

Or

(b) Explain the following rearrangement with
example (i) Pinacol- Pinacolone, (ii) Hofmann,
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1, (n) Rlucidate the structure of nicotine,

Or

(h) Elucidate tho atructure of enmphor,

20, (a) (iy Explain spin-apin splitting.
(i) Sketeh the  NMR  spectrum  of
1-chloropropane and explain,
Or
(h) (i) Explain the electronie excitntions in UV
apeclroscopy.

(ii) How is LR. spectroscopy uscd  to
distinguish the types of hydrogen hond?
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